AAA® Triplex Pump Kit

PUMPS COVERED IN THIS IPL

90039 - 530012

Driven by PERFORMANCE™

FNA-GROUP

1265 INDUSTRIAL STREET, DECATUR, AR 72722

TITLE:

C41, C42 SERIES PUMP,
HORIZONTAL

SIZE [DWG

Al 530012-C

REV.

C

SCALE. N/A | ECN# EC180251

[ sHeer 1 oF 2

Version: -




MANIFOLD KIT

ITEM| PART# |  DESCRIPTION | QTY COMMENT PHOTO
0.1 N/A SCREW, M6*55 g | TORQUETO T06IN-LB
12N-M
1 | 7101359 | THERMALRELIEFVALVE | 1 | TORQUETDIS9INLE 1 yiew part
2 | 7110139 CHECK VALVE KIT 1 VIEW PART
3 | 7110140 VALVE CAP KIT 6 | THITREAD TORGNE 1O | VIEW PART
4 | 7110122 SEAL RETAINER KIT 3 VIEW PART
5 | 7110144 SEAL SPACER KIT 3 VIEW PART
6 | 7106628 KIT, BOOST VALVE 1| TORQUETOISOINAE | vigw parT
7 | 7106733 WATER SEAL KIT 3 VIEW PART
s | 7108747 UNLOADER KIT 1 VIEW PART
81 | 7109325 UNLOADER CAP KIT 1 VIEW PART
9 | 7104228 |  SOAPINJECTORKIT TORQUETO HOINLE 1 view paRT
10 | 7108750 VALVE KIT 6 VIEW PART
11| 7110330 WATER INLET KIT 1 VIEW PART
111 | 7000123 | WATER INLET SCREEN 1 VIEW PART
12| 7110331 WATER OUTLET KIT 1 VIEW PART
21 | 7110146 | ORING KIT, COMPLETE VIEW PART



https://www.allpartsinc.com/thermal-relief-valve-1-4-npt-gy1813-7101359.html
https://www.allpartsinc.com/7110139-check-valve-service-kit-aaa-pumps.html
https://www.allpartsinc.com/7110140-valve-cap-replacement-kit.html
https://www.allpartsinc.com/7110142-seal-retainer-soft-parts-spacer-kit.html
https://www.allpartsinc.com/7110144-retainer-seal-kit-aaa-pumps.html
https://www.allpartsinc.com/boost-valve-replacement-kit-7106628.html
https://www.allpartsinc.com/7106733-seal-kit-high-and-low-pressure-seals.html
https://www.allpartsinc.com/unloader-kit-c41-series-1-per-7108747.html
https://www.allpartsinc.com/unloader-cap-kit-7109325.html
https://www.allpartsinc.com/7104228-chemical-injector-kit-fits-simpson-oem-and-aaa-pumps.html
https://www.allpartsinc.com/valve-kit-c-41-c-45-series-pumps-fits-11-6ga-10-0ga13-and-9-4ga13-with-new-style-head-7108750.html
https://www.allpartsinc.com/water-inlet-kit-7110330.html
https://www.allpartsinc.com/7000123-water-inlet-screen.html
https://www.allpartsinc.com/water-outlet-fitting-kit-with-o-rings-c41-7110331.html
https://www.allpartsinc.com/7110146-o-ring-kit-c41-c42-pumps.html

ITEM | PART # DESCRIPTION QTY COMMENT PHOTO
13 OIL BREATHER KIT 1 VIEW PART
14 OIL PLUG KIT 1 TORQUE TO159IN-LB | v/ ey pART

18N-M
15 | seeip | REARCRANKCOVERKIT | 1 VIEW PART
TABLE
151 | BELOW SCEW, M6*12 4 |TORQUE To,\ﬁm IN-LBON- |\ ew PART
16 MOUNTING FLANGE KIT VIEW PART
16.1 SCREW, M8X30 4 TORQUE TO 221IN-LB | y/jey pART
25N-M
17 | 7105741 OIL SEAL SET 1 VIEW PART
18 | 7110150 CONNECT'NSITROD’ PISTON | VIEW PART
181 | 7110828 | CERAMIC PLUNGER KIT 3 | TORQUE TO 70IN-LB 8N-M | VIEW PART
19 | 7106709 SIGHT GLASS KIT 1 VIEW PART
NOT SOLD *
191 | NoTsop SCREW, M16*12 3 | TORQUE TO 80IN-LB 9N-M | VIEW PART
20 | 7106723 | CRANKSHAFT OIL SEALKIT | 1 VIEW PART
21 | 7110146 | ORING KIT, COMPLETE VIEW PART

COVERKIT P/N: COVERKIT P/N:

7110141 7111012
VENT CAP P/N: VENT CAP P/N:
7108868 7111013
OIL PLUG P/N: OIL PLUG P/N:
7110127 7111014
FLANGE KIT P/N: FLANGE KIT P/N:
7111016 7111015

CRANKCASE COVERS ARE NOT INTERCHANGEABLE BOTH
TYPES OF SEAL INCLUDED IN ORING KIT (7110146)

©
Alparts Equipment &
ccesories Inc. Visit www.allpartsinc.com to view full parts catalog and contact customer service.


https://www.allpartsinc.com/7105741-oil-seal-kit-20-x-6-x-9-aaa-pumps-lt-zj40011.html
https://www.allpartsinc.com/7110150-connecting-rod-c41-c42-aaa-pumps-14mm.html
https://www.allpartsinc.com/7110828-piston-kit-c41-c42-pumps-3-ceramic-pistons.html
https://www.allpartsinc.com/kit-crankcase-side-coversight-glass-7106709.html
https://www.allpartsinc.com/7106723-oil-seal-single-wall.html
https://www.allpartsinc.com/7110146-o-ring-kit-c41-c42-pumps.html
https://www.allpartsinc.com/vent-cap-breather-assembly-7108868.html
https://www.allpartsinc.com/7110127-oil-plug-with-o-ring-kit-for-cy-series.html
https://www.allpartsinc.com/vent-cap-breather-assembly-new-style-7111013.html
https://www.allpartsinc.com/7111014-oil-drain-plug-kit-c42.html
https://www.allpartsinc.com/

	Blank Page
	90038-C42 PUMP BREAKDOWN.pdf
	Blank Page
	Blank Page




